EArCET— 2008 (AM) Vawbhal lﬂ.aj.

ﬁ'://www.hellogiri.com AM 2008 A

Time : 3 Hours _ Marks : 160
Instruction :
I.  Rach question carrics one mark.

B8 28y 2.8 Srdy, Soik.

2. Choose correct answer to the following questions and darken, with HB pencil, the
corresponding digit 1, 2, 3 or 4 in lhe circle pertaining to the question number concerned in
the OMR Answer Sheet, separately supplied to you.

Qrid 200 (DS |DE) 5 DOGHD Hrordduh SN @il Sedod oot 1,2,3 854
MO @iy OMR Sirged dgiws® HH% Dowodold Howgio WEED
HB 2458 Hem Fohsdi.

BOTANY
1. Identify the scientists worked extensively on chlorophyllous and nen-chleraphyllous
Thallophytes, respectively :

I. fyengar ' iI.  Swaminathan

[II. Mehta V. Maheswan

Ll &8s DIrd Hboh HE Has s &6‘:‘.&5&}2 HZE BEgaboo Wb
TS ot HYbnm Ko,

. wofgorrd . Srocbard®

HL el V. &ie Eide

The correct pair is

25 DHGLD e

{(h LTV \‘J 1, 111

3y 1,1 (4) HLIV
Rough Work

15
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2. Study the lollowing lists .

List-1 List-11
{A) ‘T'rainingin landscaping . BSI
{B) Establishment of Mycological herbariom 1. CIMAD
(Cy Research on paper pulp M. [RI
(DY Introduction of Setvia into Tndia v, IARI
V. NBRI
& 300 e Derudn viipcbvo Hodbod,
andyar-1 el am-I1
(A) erob 'iazr?aoﬁ:g REm I. BSI
(B} 28ucro WAYBAbod ooyt Bashd 1L CIMAP
(C) s B0 bz HOFEH I FRI
(D) Fdecfr Bniyd sodaird’ @RFRgd TV IARI
V. NBRI

The correct match is
26 3Bgbid £ 3oy

A B C I
{1y 1 ! v v
(2} V v | 1
(3, V 11 | v

V IV i 1l

3. Which of the following two are the resultant of stipule modifications
L Spines n Ziziphus II.  Tendrils in Seilax
Il ‘Tendrnils in Nepenthes IV, Spines in . drgemone
Y. Thorms in Bougainvilleg

$1 30D A8’ J Bod HEHayo drarodd phso

1 23506 Lops e L @By LDOEKw

Il I[podoes® Ldsde) v. HQEI‘SﬁﬂﬁGﬂJE'EJ

V. SfHSa0tes’ dugh.

The correct pair is / =8 JPOLD w4

(1 11 i I, E (3) O,¥ 4 NLV
Hough Work '

28
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4. Which one of the lullowing conditions is seen in the rvots of a plant having subtnerged
assimilatory roots and spangy petioles 7

{1}  Trarch

Monarch
{3} Tetrarch
(4} Dharch

S FBvmhicyvod ﬂ-soﬁéﬂim S5 ook p.:Duaa Dol D Syoerodk 50AAKd
Ay SES® & [Bob agé.:e;:rcﬁﬁ D0 EDDh0a 7

(1) (Ppdd oo
\921/ ¥ Hifsy o dso

(3) S pEd oo

(4) B¢ P aedio

3. Identfy a pair ol the [ollowing plants which show modification of axillary buds into tendrils
and hooks respectively :

. FHugonia ' II.  Duranta
II.  PassifTora 1V. Disscorea

g0 (Bol &-AS® |AS) T, LOSEM, FF) o Sraroddo Dod whw) dn o =

HQodod.
L Zroffdofe ' . Goroor
W arpgroe V. delrdd ok
" The cotrecl pair is
ad OO wd
{1} L1 _ (2) T 10

m, 1 4y Iv,1

Rough Work

35
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6.  Study the foliowing Table :
1. | False whorl like | Many sessile bisexual flowers Leonotis
inflorcscence '
I | Single flower like | Many stalked staminate and pistillate | Poinseltia
mflorescence flowers
UL | Fruit — like inllorcscence Many scssile staminate flowers on | Feus
the top and pistillale flowers at the
base und sterile flowers in between
1V, | Fleshy axis uf intlorescence | Many stalked staminate flowers at | Coluecncia
the hase and pistiliate tlowers on the
| top anil sterile flowers in betwesn
i |08 DS wgonda Jobod :
L | woys doobo eras SBE dyod EId BgDONS | Dotrsan
e DRTERG 5 aLeY
I | 38 Déyo Do iy w¥ Hyo8 abe Hdh Dok & | SrouFugoldr
REE 0 Qeryes
1. | $eo Dod Py drgRe wnd Syod Bird HWA DErne s
wiod®, _?.j_:j; QAo e ot HES
Hose Biryen s =
V. | 822508 iy Aaegd wdg Hjododnd PEB Py | Fohoke
. werdodt, Jy wdrye eifod”
Sobol Doy ayryes ?‘mcﬁgeﬁ“‘

The correct pair is

28 "E’J@E& o dh
jl,m

(3) T,

LIV
10, IV

(1)
()

Rough Wark

48
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7. Read the foilowing lists : |

IJiﬁt‘l Iqiﬂf‘ll

{A)  Gall flowers 1. Theobroma
(B}  Sympodial axis O Bougainvillea
(C)  Achlamydeous M. Fieus
(D} Cauliflory V.  Kuphorbia
V.  Hemelia
81 |80l arDerall Hc_ﬁgo.}'aﬁc: Dohod
ergler-1 ardg-I1

{A) rﬁﬁa'g;o]“;jw L. ey [
(B) wdrudd wdo 1. 3PS 2O
{€C) Do Yarsdo oM 30
(D) Psrod HFySNS V.7 ool ole

' V. wEwdog

The correct match s
@b HOobLS 2°5

Ay @ © @
(1) v I
2y Il v il |

o
L
3y i I I I
.w)m L A I

8.  In the flowers of a plant, the ovarian part is fused, but styles and stigmas are free. Its ovary
becomes unilocular due to breakdown of partition wall and the ovules are attached to a

cengral axis. Identify the plant.
K Dianthus (2)  Abuifon (3 MNymphaea {4y Michelia

8 Ay Paryud® socrdch ero HeakiD, derew, Sorpror DG GasT 0. L0
woorfobo @it DApREe by SEDuaPBos Dbof eomrer Soldod
w8 v dotron. & T HBotkn.

\w/eéoi:eotﬁf_: (2y wendlurs (3) Johotr (4) Q_az‘;i@oﬁv
Rough Work ’
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9,  Arrange the following fruits in descending order based un the number of locules in the ovary
from which 1t develops :

1. Carcenilus , M. Schizocarp
M. Cremocup IV. Repma

& Bob Porod, @i o6d@ sosfolrodd Dore Bopg oeedom wd&m
|Banod® wiudyss,
L sdyhes | N
. \Edrse6y V. 3o
'Fhe correct sequence is
2 BPOLD (Fawo
LLIV,ID 2} LIV, Ll (3) I, IV, (4) 1ML LIV

10, Identify the characters with reference to the plant in which eight nucleated embryo sav was

first studied by Strasburgor. '

I.  Micropyle, chalaza and funiculus arc arranged in the same vertical line in the ovule.

.  Presence of both unisexual and biscxual flowers in the same plant.

1l Filiform apparatis helps in conduction of food materials from endosperm to egg
apparatus.

TV. Long funiculus coils like a walch spring aronnd the ovulue.

Q‘}Emﬁﬁ 230 wigohne Jnd s Sodse E:Dd%‘gaﬂ*eﬁl Edotoy IEY S

DOoROHUIN LEMrUN Moy,

I wodod® wol gdo, Sorer, woddyado 23 Doy Sn e sdolodron.

I o8 3wy e J% Bod ©bot Sgdoll Harjer Jodks Ao,

ML wofdide ok &y Da Sm H0EorE uliS torgre Sarer &, DIFEH

SHEdo E’sié;jﬁoémﬁb.

V. 2Emd wosdyodo, wodo thar AB0PSH B190k oo HEuEY aotsed.

ldcntify the correct pair.
RIS iy MHBodidmn.

(y LIV (2) I, \m/ LI (4 OLIV

Hough Work
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From the following identify the 1wo correct statements with relerence to meiosis,
[ Bead like structures are absent vo chromosomes,

IL Displacement of chiasmata oceurs in diakinesis.

I Separation of twao basic sets of chromosomes.

V. No division ol centromere.

EonEdem Lgfesd Sypre €0 (Bod e Tod DOEHY arggod Dok,
L (S3rdiwod o Sot dompmes o).
11 §oﬁ*ﬁ‘av tedo da}‘?‘nﬂ_ﬁ?ﬁﬁa 22dardof.
H. Soth (Eardthune dro duse addhde .
IV. 720|800 D adiid.. u
The correct statements arc '
ROGL® argpgen
o, m ) IV
{3) IO IV {4y LI

12.

In 2 DNA segment having six coils, there are 22 nitrogen base pairs linked by two hydrogen
bonds. How many cytosine bases are found in that segment 7

v Loddon o DNA pobddod® 22 Hdad griwdw Do i@ =S nogre Hd
RORe Bod Pavyow. © poddod” Iy PEDS Frovevolr an? :

1y 22 uej/ 38

(3) 44 4) 76

Rough Work

78
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13. (5. H. Shull observed inbreeding depression in a plant, Miller and Letham isolated a
hormone from the immature secds of that plant. Which ol the following character s NO'
associaled with that plant ?

{1}  Atactostelic condition in stem

{2) Bundle sheath in leaf ‘

(3} A hromosomal number ol gndospermous cell is 30
Medulla absent in the ool

2.5, af o8 Mol & wosl: |Padd fndd howd. 8l dud) 3¢ ddaro Lol
web, ddbor nf SRR 3D Drm. & Bob ofrod® 28 o JwH
Bomofoned 5w 7
(1} srodod® JerE b L
(2) D Sod® Youd Fehors
(3)  wOLBHE gmod® |Sardthve Hogg 30

S &by &odd

14. Read the lollowing Lists :
List-1 List-I1

(A)  Extra foliar nectaries L Achiras

{By  Schizogenous cavities II. Tropueoifum

() Laticiferous ducts M.  Pussiflora

(17}  Hydathodes IV, Eucalyprus
V. Pinus

&1 B0l weeo wiubdo Hobod
a1 enlige-I1

(A Yipse w8dod oo L es| 50

(B) Db feroren 1I. |y 20T O U

() erdhRBh orvee Nl ordgror

(D) ww dogre: V. uﬁ:ﬂéﬁéﬁ
V. R0

The correct match is / =6 50 @é A
(A} {R) () ()
1 il IV

{1y I
j%/ [l I ITI IV
1l W i Ti
4y V 1 i 11!
Rough Work

L3
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I15.  The tracheophyte characternized by habitunl heterophylly, absence of caompanion cells in
phloem and presence of vessels in the xylom is

(1} | Drimys

@j/ Selaginefla

(2)  Pteris
4y Cnerum

©)8 Dowog Py HF NP, INE Snerovd” 2 Lo EQolvodgdtndo, o=
Smarood ol v $Qoodac o ad (2600 (g Dairper Ry,

(1) |[Bao (2) BOw
M DRI ) Do
16. Study the following lists :
List-1 List-11

(A)  Arachis I. Basket making

{B) Mangifera II.  3aky

(C)  Cajanus HI.  Fixed oil

(D} Oneza IV.  Diuretic

V.  Nitrocellulose
Si (808 wrDeroid vdgalido Dahod
- whe-] erfae-11

(A} oo L who Sued

(B) #Aro=doe I o8

(C)  Berdd UL DTS 4B

(D}  aBer V. Sar|Sa0gE 570

V. 315" DengstE
The correet match is
78 DOGHD B0
A4 B © @O
ITI Iv i i
(2)y 1 It IV hY
(3) MW I v v
4 Vv 111 o I
Rough Work
28
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17.  Study the Gllowing related to uses of plants and identity the correct match for sorghum and
cottan respectively :

L Bluod purification and organic fertlizer
[l Animal feed and paper industry '
M. ‘B Vitammn and cosmetics

1v. Explosives und orpapic fertilizer

MHeo sddrowd Howopelld & (8o & wgzolho T, S, 088
\SdrddeSom Hodid £ G0k Mo,

L o5 'fﬁ.:-rgj 20 Q0% W)

I Hapu orer, SoRSE) DO

I B Saind, ﬂ“uéég re LAl N

V. oot Hargre, wo@oh J8xY.

The correct pair is

al DOQLL ed

(1) LT 2y IIO

(3) I, 1V : N7 e RN

iR, y one of the following tormed in Spirogyra is different based on its nucleus ?
Zynospare {2} Azygospore
(3)  Aplanospore {4y  Akinete

S RTS® 2873 &1 (Bob s’ Fodlo vardorr 20 DTG 7

M( Doy ?Jrié EAPRT (2) wdoony ;"‘bca”) Hao
(3) Jfyo b Deo (4) wEIE
Rough Work
105
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19,  Assertion (A) : The life cyveie in Fanaria is called diplohaplontic.

Reason {R) t In Funaria, there is altemation of hapind gametophytic and diploid
sporophytic phases, one becaming parent to the other,
The correct answer is
{1) Both{A)and (R} are true and {R) is the correct explanation of {A).
(2) DBoth {A) and (R} are true but (R} is not the correct cxplanation of (A),
(3) M A)s true but (R} is false.
(A} 15 [alse but (R) is true,

Ry (A) + gRoute A0 sy dgoh D HILo wokr.
edmo (R} 1 PHgRdutrs® 34 DBE Doddri Bl tbots $gc L8K &y Loz gew
NEPUBEOM dodrow. ook of o'l LFEY adiie edHaran,

S8 DO aarw

(1) (A)$Bub (R) Bodr HOGHHY. MBuin (A) £ (R) 90 b,

(2} {A) SDokn (R} Todr I, 0 (A) % (R) SO0 Hbdn sod.

(3} (M) SOCEEA 5 (R) D0SBHa s,
7 (A) D008 5% 5o (R) H0GLHA

20.  Read the follawing lists
List-I List-II
fA)  LCxarch L Rhizome of Piaris
(RY  Fndarch 11, Roots of Pleris
{(CY  Mcsarch Ul Pinnule of Cveas
{I}  Pseudomesarch IV.  Trimary stem of Preris
& |Bab erDerol wigaido Sabod.
wLor-1 -1l
(A erdeg | D65 ardiEo L BOD SRy
(B)  wodd B35 orhie N Bohdu
(Cy ?’mqﬁg (P& wrdagu 1. ?&éﬁ 2B350
(DY herg fadp Bk orthfo V. BBD |Zrdibd srodo
The correct march is / 38 DO B0y
Ay (@ ) (@D
{1y 1 117 v T
2y 11 IV HI |
II. IV I m
@ I H I TV
Rough Work

118
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21.  Study the tollowing lists
List-I
(A)  MI13 bacleriophage
(B)  Rice dwarf virus
(C)  Cauliflower mosaic virus
{0}  Palio virus

L
IL.
I
™.

&1 300 e Demud wgpabbo Batod.

AL |

(A) M3 erfsoe ord

(B) %06 argby AU
Q) =DEa6 mwerans BUD

(1)  TOGr IO
The eorrect match 15
26 DEGLY oY

Ay By @ (D

111 I Iy u
& N | T v
{3y Il v [ I

(4y TV {I I

—
—

List-11

ds RNA
35 KNA
ss DNA
ds DNA

whar-11

TBodh ofthe RNA
23 2% RNA

2.3 &% DINA
Badh i DNA

AM 2008 A

12, Assign the following substunces 1o the cell wall, flagella, *s” layer and pili of bacteria in

COITECE sUqUene |
1. Gilycoprotein
1. Tewhoio acid

[I. TIambniin
IV,  Flagelhn

& |08 iabndd dorgroi weglolr 8w $ddo, Samdo, o5 ErS ok b o

Roobd (ERod” wikowodiw,
L A% @dd

i
N 28owd ednw
The carrect sequence 15
26 0000 | S
(B N, VLT

LIV, L I

20008

v, 803

(3} T, TV, 0L 1

L 1V, 10, |

Ruugh Work

128
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23, \zl;gify the fungus which produces chlamydosperes from dikaryatic mycelium.

Sphecelotheca sovghi
{3) Pyricularia oryzae

(2}  Rhizopus stolonifer
(4}  Colletotrichum falcaium

Sg¥oiad oo 88% Ao wwo ko8 PG Y bewad e8yg Ib

Ebopﬂ:ﬁi Boviod,
';’aa?;:ne'i‘ & 5“?3"2

(3) PDEpTOOdr 20

(2} IEDT Polipb
(1) FOETED pEhad

24, Study the following lists :

List-1
(A)  Blast disease of Rice L
{B) Citrus canker I
(C)  Grain smut of snrghum I,
(D) Red rot of sugarcans A8
V.

& 800 erderuin wdpobbo dabod.

arDgre-1
(A) 20 =R Bibew L.
(B) &S so¥5 By IL

(€) &%) hoz stwE Bt 1L
D) %% S Do B IV,

The correct match is
28 OGS &30

{A) ((B) (©) (D)
(M Vv Vol Il

v Y I I
(3) I m v ol
%

4y 11 II I

List-I1
Dikaryatic myeelium
single celled conidiophores
Gram positive bactaria
S¢ptate conidiophores
Gram negative bacteria

aflor-11

aeBo|dahid 3Do|kerewo

oF Emofne £HAGTF 8w
& SredS e §000S

i dirw o FIGTru
T It w%ﬂuﬁ&

Rough Work

1358
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Identify three of the following plants which exhibit the physiclogical process described as
‘Neeessary BEvil'
l.  Potamogeton II.  Sagitiaria
HI. Limnophila V. Nymphaea
e BN @R‘:éo“ oy égoiﬁaﬂ [Boeys Domedy @’JE&@;GT—:‘ Tarddy R o
FoB @i,
. PerRr@trd M Jr2Foel
L. SRryber V. Roiobhe
_ The correct match is
28 DOGUD S0
(1) LI I, 111, 1V {3y LILTV {4y LIIL IV
26, Swudy the following tablg :
i1 Pcperomia Leaf succulent Leaf epidermal cells
o _Store water '
1. Calotropis Non-succulent Root cells with
o -thickened cell watls
I | [ribulus Lrhemeral Stem stores water
V. | Ammaophila Dicot plant Rolling i of lzaves to
o check water loss
|Bod 2E8L agaibo Hohod
I. 2HB ol $L0E Qoo 2y | D|E "a:‘a’rg 15:5@ Seroy R |
SR T
TSRS Shefdo =0 Aok, | B¢ Seren odmd Sargo
SO0 Qlvodraw
oI | eenged woys 0L k) TG0 DEN Jog Tpod
IV, | slmper 855% D 2wy, A Herdy ©OELWIE Hlevew
STHDT DgpFiotraw,

Identily the correct pair of answers,
ols! e i ifovsod.
I I (2y 1,1l (3) 1Ll 4 1,1V

Rough Work

148
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27 Study the following lists :

List-I
(A)  Mutation breeding . i.
{R)  Inbreeding depression IL
{Cy  Pureling selection Hl.

(D} Intergeneric hybridization IV,

Bob = Dereid egigaddo Dubod.

ardee-
(A)  aS)0R88 |Dedie I.
(B) 908 [Heedid S 1
() é}cg »oH B Dlmo 1L

(D} @’:ecné?gcéigé let-lels! v

The corrcet malch is
ab Doold FGoy
Ay B L) (i
(n 1 It v L
() v A 1 |
qa( v V i I
I

4) Vv Iv I

AM 2008 A

List-11
W.L. Johannsen
Karpechenko
Charles Darwin
L.J. Staddler
(. H. Shull

Rough Work

58
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38, Assertion (A) :  Citrullus vulgaris is produced fram a cross butween 4n male and 2n
temale planis. '
Reason (R) :  These triploid sterile plants do not bear seeds.
The currect answer is .
(1} DBoth (A) and (R} are true and (R} is the correct explanation of (A).
{(2) Both (A) and (R) are truc, but {R} is nol the correct explanation af (A).
{3 #{A)is true, but (R} is lalse.
{A) i3 false, but (R) iy true.
D280 (A) 1 S|y Hyrot 4n Yok ok 2n L9 Ind) © So¥dn Lod DENERA.
¥xo (R) @ & Léoﬁ?g@é Rody Twse AL BT éé'%loﬁ:uié?@.
ab JBELS zarw
(13 (A) fu8ad (R) Sodr <DGhaa. 00 (A) % (R) DOGDLR X6,
(2)  (A) &80fn (R} Bodr DOSED. 573 (A) B (R) 20000 g T8N
(31 (A) DBGHRD 50 (R) ABGLOD 5.
{A) DOGLRE 578 53 (R} POTRG
29, Study the following table showing the components of water potential v closely arranyd
mesophyll cells namely A, B and C.
Cell Osmotic potential (MPa) Pressure potential (MPa)
A -0.21 (1.05
B 022 .02
C - 0.23 (.03
[dentify two of the lollawing which show correet direction of water movement hetween two
wells. :
I A —B I B-—C m ¢ —A Iv. ¢ —BH
dyirdom windyadv A,B,C wied ek Herodd rre I8 dsqoT ol Srbod
&5 |Bud HYER wdgodio Donuds.
gmu a5 4830 (MPa) S 4Ey0 (MPa)
A 0.21 .05
B : —{r22 .02
C - Q.23 {3.05
& 200 2*0E Bath Ko wdg HOGHD V¥ $e drgdy S Tolods Mhgoiod.
L A—HB I B—C . ¢ — A v, - »D
The correct pair is / J0GHO =8
() LI (2) ILIII \({i, A% 4y U, IV
Rough Work

16 5
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30. In photoactive plants, during day time the following ionic flux of guard cel! is dircctly

mvelves the expendilure of energy :
(1) Outward movement of malate - . (2} Inward movement of potassium ions
Dutward movement of protons (4) Ilnward movemenl of chloride

FEIED Iy od’ HiY IV, JEE Errod’ &1 |Bod warde dodod® BEgiorr
48 DG zdrodind,

(1) Lrod Jendds SOode (2}  Drovihobo woirdece STHDE SHovbhd
[Erérdon 3endds SOethe (4) E'0& S'HEE Shohw '
3. Assertion{A) :  Salt resistant plants survive in saling habitats by maintaining [ow

inlernal MNa' levels,

Reason (R) :  Salt resistant plants ger rid off excess Na- by ATP cnergized
anhiporter,

The gorrect answer (s

\({ Both {A) and (R) are true and (R) is the correct explanation of {A),

{2)  Both {A) and (R} are true, but (R) is not the correct explanation of {A).

(3} {A)is ttue, but (R} s falsc.

(4) ({A)is false, but (R) is true.

DAyda (A) D obm BB O0EE S B850 vodds Nu' ol Adgsroido
oo wibe eadrod” bl o,

8o (R) r oo DEJESE o en ol Nawd ATP 3§ scbd wod
g0 oreor FodowEodron.

¥ POGHD warw

\,(-ﬁ' {A) *Gods (R} Bodr éﬂ@ﬁ&') sBoy (A) 8 (R) :‘ﬁﬁ@‘é} et

(2)  {A) &Bo¥s (R) EG&J; a’:a@aea 5o (A) B (R) D000 skkdte 5o,

(3)  (A) JBILRE s (R) HOGHJA =ik,

(4)  (A) DOSLHG 57 520 (R) DOOLDG.

Rough Work

17§
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32.  The net requirement of assimilatory power lur the formation of 6 hexose molecules in maize
plant is
oty S 6 wEND wahe LurbdE DZgom RS by rgofisde 55
(1) 72 ATP, 48 NADPH (2) » 90 ATP, 60 NADPH
3y - 108 ATP, 72 NADPH 150 ATP, 72 NADPH
33, The reaction which is catalyecd by a protein that is not found in the mauix of mitochondria i
(1) Conversion of pyruvic acid to acetyl cocnzyme A
{2) xidalive deecarboxylation of o -ketoglutaric acid
(rxidation of succinic acid
() Cleavage of succiny! coenzyme A
DEfgrodalr 2o 38S° odd [T edydoded Hdg-
(1) P65 wine vbBd § JoBS A o odid
) 0885008 wiy i B8 & T3P0l
H8108 wiy udy¥dm
(4)  283C SFaoEd A Deiwitiw
34,  Identify the triplet codons which code for the amino acids serine and preline.
208, |RU vl wiro SoSdomr soid |88 Huforain thiodod.
L uee L LA . AAG IV, {0
The correet pair is / 58 S0 wd
(1y 1,11 2y LIV (3} I8V \.m/ 1
35. Identify rwo of the following phytehormones which regulate the stomatal movements :
. IAA I Ga, . Zeafin IV, ADBA
DESogro Sy K}DEJDLE%\OES f.:lﬁ‘g ”’uﬁﬁga:fxpua"xn Dudbodd Bl
I IAA L GA, L &2e%SS V. ABA
The corrcet pair is /59 H00LS = '
() LI (2% 1,10 o/m, 1Y% 4y ILIV
Rough Work
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36.  Identify the pair of physiological effects of two phytahormones which are synthesized from

different amino acids.

i Formation of perennating buds in Lemna
. Simultaneous flowering in pineapple

III.  Bolting in cabbage

V. Apical dominance in Polyaithia

8y ep¥ uire  wod ﬁuﬁdéb@g Toty P&* 9.!‘56&5:& Lﬁnﬁ*é&é
|Sgrar e ﬁ:aoﬁaﬂm

L Samgt LYs08 Eusen (Rifen) Dol
L eds® Aok od 2830 Hipotdo

M eHad 5°0of

IV, 20crfolrd® uymas

The correct pair is

26 DOALX wdd

I, IV - @ LIV
(3) L0 4 LI
37. [dentify. the plants in correct sequence which exhibit msrcescent calyx, herkugamy,
mucilegenous cavities and inferior ovary respectively.
1 Sphaeranthus N.  Capsicum
1. Gloriosa IV. Kyidia
| HBBT ErOyRoS EEE HEHE, TELAD, Bl Sirore Lok ::;sa;l wo@Fuo
[P50)00 B © DO (Eardy HHoED.
L m‘gmocﬁu U snEd
i Fosrd V. Baod
The correct sequence is
af DOGLD (Kdvo o
(y LOLILIV (2) ILLILIV (3 ILULLV \m/u,m, v,
‘Rough Work
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18. In an inflorescence, two types of small, sessile flowers were obsarved. They are ammanged in
centripetal mannor and have redu ced hair like sepals. Which pair of the following characters

are NOT associated with such flowers 7

1. Nector glands al the base of the corolia
M. Axile placentation
e Supenior ovary

1V, Scaly bracts

2% Py Dergikod® Toth dsre D) Jyod T2 Gk yuesr)on. farye Bopdardone
wid Gamon. S55 deew Lelol FredB garjon. sduiod Pyl BrbE W8 &
D ué oo ENbodpy 7

L wSimdore b¥griod® 258 (Hogeo
M {08 eodTgRo

. asde Qowiﬁoﬁo

IV, Suine Hodf QIR

The correct pair is

taf) é&@aé paid

\(H/IL m

2y M1V

{3) LI

4y LIV
Rough Work
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39.  Suwdy the following lists :

Fist-I List-II
(A} Arachis L Swolen placenta
(BY  Cichorium 1. Epicalyx
{C)  Lifium IIT.  Fascicuiale tuberous roots
(D) Phusulis IV,  Geocarpy

_ V.  Hulbils
th (S0l rerol @&ealing Dohod, '

weiar-1 arfo-I1
(A}  @oeBS L. GONS wodagd R0
@ »Efsate L SeedE® Ho g Ry yAE
(C) ®doho L. redber $0d8 o T
I 2ed3 v,  grdedo

V. odw e
 The correct match is
Q@ DoGId &'

(A} By (). (D)
1 1V Il 11 v

() iV I Il T
(3 v I I
v It Y i

40, yﬂfone shows the comrect descending sequence with reference to the numbwr ol coborts ?
Thalamiflvrae, Calyciflorae, Disciflorae, Inferac
{2) Heteromerae, Inferae, Discitlorac, Calyciflorae
(3)  Bicarpeltaae, Disciflorae, etaromerae, Calyciflorac
(4) Disciflorae, Thalamiflorac, Calyciflorae, [eteromarae

S dopgd uf 28 0gHD eRF G m | Sird) Srbos. |
\.P( o 50, 30D B, AV, 0, as»0

(2) atins, as, &y, 9T, SOL g9

(3) BETED, &Yy, §0, w8’ LT, 500 g

(4) &y @B, Hord g0, TON 276, WS g

Rough Work
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7001L0GY

41. Which of the following groups of graanisms are ecologically similar !
{11 Produccy protists and consumer prodisis
(2} Meonerans and producer protists
(3), Consumer protists and fungi
Monerans and fungi

B0l &% Shardfed® dirdiin Darg Jedrigd SUORD oa?
(1) &gy |2 aebods MG @rEgre
{23 E:.:ni‘lﬁﬁa soboly &338 [Eragres
(3) , DhGrd [T Hook Bhowrw
Rudor e Hbeln Do

42, Statement {5} : In many gastropods, the anus and the mantle cavity are placed
anteriorly above the head,
Reasun (R} :  During cmbrvonic developrment, in many gastropods one side ol the
visceral mass prows faster than the other side. This uncven growth
rotates the visceral organs npta 180° in many gastrapods.

Ihgetorrect answer 18
\.@’fw Both (3) and (R} are true and (R) cxplains {S).
. (2} Both (8) and (R) are truc but (R} cannot explain (S}
(H Only (8) 15 correet but (R) is wrong,
{4y Both {8) and (R} are wrong,
Fegwg (§) 1 weem TPy T Shud® ol Lbol Frerdy Ldrdo Dol
Frorgodod” Soph Hodid,
wino (R) @ wor My Par 2o doaddyd minobod of @ wodoun
[Shpo Bodd DHay 88y eBdorm otiswe. wdars Dihie
wodororl whodarud 180°H5E bt Dol
Al Hhokd warey
O (S) &bt (R) D, (S) & (R) SOGHS Db
(2) (8) Hodafu (R) dzw, 57w (8) B (R) NGNSl s2a.
() (8) &r(3D s, (R) Jan 59,
4y (8) Hboy (R) Jodhin Juin 578,

Rough Work
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Siudy the following : |

A, It is a terresirial Arthropod.

B.  The prosoma bears a pair of chelicerae, a pair of the pedipaips and four pairs of
walking legs, '

(., The metasoma ends in a telson, '

D.  First pair of walking legs are modified as poisonous claws.

(E08 Treld egigodibo Dadudy.

A, ub el S H?j@“@ 9]

B. (JJTurs: oE mfd SShoren, zf md ?:ﬂﬁﬂﬁhm, areoty 2ae Doomorres
&5 OGN,

C. Sardile Boyam eodindd,

D. Fwdd ad 5ogh I Spawenrr E&raroddan Bodial.

Which of the above are true [or Heteromeirus
{1y AandC AandB
{3) Aand D} {43 CandD

2 o8 rdl Mot HOSHRN I 7

() AC .ﬂ(ﬁ,n

(3 AD _ {4y ¢, DB
44. The hilateria member that exhibits pentaradial symunctry is
(1) , Neomenia {2)  Nawutilus
Nenmetra {4)  Neopilinu
Hois V8Yem oo DS8Yoh Zodbolr £
(1) , Dok Soloks (2] T8oi
J SIr | 4 oRragar
45. The proteins involved in the movement of chromosemes towards the poles during cell
division are . .
{1} Actin {2)  Myosin @ﬁ/’ Tubulin (4}  Elastin
Sra DS, |FRrdthuo |Gare 3 Sbeald 853 Pdsw
(1) ©35 @ 2ownS @ argwds 4). w3
Rough Work
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46. The animal in which the space between the gut and the body wall 1 filled with mescnchyme
is
(1} Echinodiscus (2)  Enterobius
(3) Ewunice Echinococcus |
Eareinti, $88 Hargd3 gy fo Foiw, Rdg [Frm Smerood Jodndih £
(1) a38f8HSE (2) odfous () obedd M JBFEED
47. ldentify the type of fapellum in Monas, Urceolus and Polptoma in their sequential order
from the following '
A, The flagellum is stichonematic.
H.  Two or more rows of lateral appendages on the axonemes.
(. The flagellum is pantacronematic.
I>. Lateral appendagus arc absent and axoneme ends ay naked axial filament.
308 wfmed ud Ined, edjured, FOSNre Ergdhvel ol oD |E&ods®
o0 k.
A 3_;%* NimeeSE Baedisw .
B. ofioh dodkilh Sodk, wos50B I8 d HENG® Srdyg Sopmmen.
C. “hotyw |FRhrsE $rdo
N, eich Sodxy wody grio, r;aaﬁcﬁ gargom, Sifhorr, Srdiy Rogmw S&om
G GCBIRD. '
Answer |
ML TALE
Yy A,B.D () ACD {3) B, A C \,(-ff/ﬁ, C, D
48, Cenain stapes of Plasmodium vivax may survive for a leng period in the liver of man as
‘{;r%pd?int stages and on reactivation enter into ong of the following cycles
F.rythrocytic schizogony (2}  Exvcrythrocytic schizogony
{3y  Cycle of Ross 4y Gamclogony
ST Gub BarEyd® Bl dden, el sBoked” oroe stou :ﬁ;;ﬁ“éfgﬁs
£IguiifeR). ©d Yot gin Dobd ddars [HHReD 8o
58 He Dpod eddin (2) 08 S wrdrg Dok wRDEw
(3) e SR (4) T2STETD
Rough Work
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49, ‘Which one of the following abnormalities in the host is associated to Wuchereria,
Plasmodium and Fasciola respectively 7

A.  Parasitic castration B. Hyperplaéia
C.  Febrile paroxysin D.  Peritonitis -
E.  Lymphangitis |

The correct match is

(1) E,CandB {2} E,Cand A

{(3) B,Dand E ' (4) C,Dand B

&it8alr, FTHA000, FRGror Hovd) dYo Do o8 wadohed® §O7
@ArgSnom & DO |Bod®d haoidy,

A, dovRy €8 5imal B. o8 Ptk
C. BBy dovdyan D W0&AED

E.  SogroBdd

HOGHH wa
\@‘)/E,C,EI g (2) EC A
(3) B,D,E 4) C,D,B

50. From the following & digenetic parasite is .

(1) Taenia sofium {2} Wuchercria bancrofti

\93( Fasciola hepatica {4y Plasmodivm vivax

|Bod 'ﬁ.‘rﬁ"a}&l s3e5 e tsgoce BEow Doy &)

(1) &t FOHS (2)  &IU0u wro(sy
\(aj/ DGrer Deordse (4)  FTHdano T8y
Rough Wark
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£1. Match the following .

Net-[

{ Pheretimua)

=R S R

2238 5 oss.
Se5%-1

Phagocytes
Chloragopen eells
Circular cells

Mucocytes

(Blaasr)

A O88 o

C. e Epres

—a

p. A& Semew

The caorreet set is

http:gww.hellogiri.com AM 2008 A

List-II
{Cell features)

small cells having yellowish granules
clongated cells
largest cells with membranous folds

cells with charactenistic markings on the surface

Bige-11

(3 o)
Srananeaedy Tewipen 508% Wy Seren
. @rdhard] Berew

Beoddend e EDRS B~ ooy

gep G 2DEwoR Léﬁgé Botheon ffu Ewrew

POSDLS mS

(y A-3 B-4 C-1 D-2

(2) A-=2 B-1 C-4 D -3

(3) A-4 B3 -2 L1

\Gﬂ’)/ﬂ—3 B-1 C—-4 13-2
Rough Wark
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Study the following in Pheretima 1 -
A Dorso intestinal blood-vessels
B. External intestinal plexus.

(. Internal intestinal plexus.

D.  Ventro intestinal biood vessel.

Arrange the blood vessels in correet sequence of blood flow from veniral Blood vessel to
dorsal binod vessel :

P0G’ Gud Ul wiguldo Sakibn.

A BErogd df syren B, wedeg wold D5k

C. wodd wo[d Piaw D, adoro|d 08 orefin

&35 88 T¥o od HyY SEwdE OF Pasie 0" HT) B 9§ Teme B@D
wand £ Do,

The ¢ormect sequence is .-

20 HHEED Ko

() B »B—shA-—C () C—3A +B—D

3 B—C—D—A  WD-3B—C-aA

33.

Statement {8) :  Arthropoda are the most successful of alk the known animal groups.
Reason (R) : Arthropoda exhibit the grealest adaptive radiation and have adapted 10
diverse habitats.
) Both (S) and (R) are true and (R) explains (3},
(2} Hoth (S) and (R} are true but {R} cannot explain (8).
(3}  Only (8}1s vorrcet but {R) 18 wrong,
(4}  Both (8) and {R) are wrong,

e (8) Eﬂb&w?ﬁlaﬂoéom‘m;’:ﬁmﬁs Hgsja?ﬁw dipow vncldodlndd.
TSme (R) ¢ Jﬁﬁjﬁﬁ{&“ o @dﬁ;géi&ﬁ wuEre  (ShHolus) ﬂ‘.‘léﬂm*ﬁl

Eﬁgow@ En8olin vy e gararol ebdrotne Aobods

\/S R Qe mﬁg‘;’u $ W3 R S0
(21 S, R J2dw 50 8 & R OH00dTd.

(3) S Dmdw = R S5y,
(4) S,R Bodr Shy.

Rough Work
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£4. Statement(8) :  Super position images drv formed in the nocturnal insecls.

Heason (R) :  The retnulae e immediately below the vitrellae and crystalline cone,
these are surrounded by retinal sheath which absorb the lipht rays,
henee, supet position images are formed in nocturnal insecrs.

The corract ANSWET 15..

(1) Roth (8) and {R) are true and (R} explains {3).

{2} Both {8} and (R} are true but (R} cannot explain {S).

\Qj/ Only (8] s currect but (R) 15 wrong,

(4)  Both (3) and (R) are wrong,

Fgmg {S) 1 Dwedd Spsrodt Sndl ﬂ"ﬁ'&’ﬁ adoar e bﬁ;}f&:;‘fm.

edno R) M0 Sbse Rproting’ Gu8Ere® gwro, BT Swr o HuE

Yo eHED 8 ahsE Hodik. D8 thgr JBdbo swpdo
Hode. 1l s o8 Blerei yiren Hrdd Fadd Ralcirud
L‘tﬁaﬁiﬁﬁ.ﬁ;.

0 GhR WA

(1) (8) Sudoke (R) Desw, sudui (8) & (R dnboviaw,

{2) (%) fdobode (R) Jeiw 502 (5) & (R) bbowdds.

y( (%) wzaw s (R) é"ﬂ:}’
@) (S) &b (R) Sode Sip.
Raugh Wnrk
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55. Match the fallowing ;
Set-I Sct-11
A Pollen hasket L, Rutterfly
R Pseudotracheae 2. Laceifer tuvea
C. Shellac i Muosquite
D. Dutton’s membrane 4. Musca
E. ‘Well developed galea 5. Worker bee
|S ol Tl wd D,
A 5636-1T ‘
A HEImE wgen 1. herSE Dend
o, g S0l e 2. eEypbog
C. s 3 Haw
. @gﬁ #eda 4. iy,
E, o ed5)D Jold Ao 5. KO &
The correct match is
ABOLE met -
A—35 B-4 cC-2 -3 L-1
{2) A--4 B .5 C-3 D-2 E~-1
3) A-1 B-5 C-3 D4 E-2
4y A-3 B-2 C-4 -5 E-1
56. 'Ihe larval stage of a harmful insect causmg a cavity like pathological condition it human
subcutanecus tissue is
(1)~ Naiad (2) Nymph
Maggot , (4) Wriggler
arddn wgHtodh Smarerd =8 S :boa:cdﬁi::: Hiporodh JEET SUES
do8d Aol &4
(1) Hond (2) Aoy
Hores (4) ﬁﬂ &
- Y
Rough Work
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The average trophic efficiency of wansfer of energy from one trophic level o the higher
trophic [evel is called

(1)  Assimilation elficiency {2} ~ Exploitation effiviency
) Linderman’s trophic efficiency rule  (4)  Gross primary production
L4 PEE Jrow od G TS Jrond £8 D wolg Hoedd Iuggo
(1) Zsofstn Fhdzo () |Hard Frisgzo

) Sodbhdy |E°05 Jbhotily drd (4)  Rro |@rEDE dendd

58.

From the following fish, 1dentify the one with a aglomerular kidney ?

(1) Sphyrma  {2)  Tilupia (3)  Cirrhinites AT Exococtus
B%d hE & Thed’ Iribiired far(d bodds Ho T Lo,
(1) ®pyem 2y derdiodr {3) IS \u‘J’/ JE NG

59.

M ——

Wild life conservation aims at :

{a) Mauntainiog the ceolopical process.

{b) To enrich the wildlife diversity with exotic species,
) Preventing migration of species.

(dy  Maintatming the diversiy ol e,

g el DodEm &gf“-'a‘“an _

(4} Sorilo ﬁ%ﬁiﬂiﬁl ét»'a:éumgorﬁ S oThE d

(b} fﬂ&g@*ﬁ.‘:u ke w"mgw@u.ﬁ medhnd Bodrolutda
fo)  erdue Dokt darloddo

(d) Zipe fdgredy ErAoddo

The correct statements are

(SloTnbies T EWEE .
(1) {(a), (b} (2) (b (e (3) (e}, (d} \44'{/ {a}, (d)

Rough Work
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60. In mammals the secondary palate is formed by the union of
{1} Premaxilla, Pterygoid and Squamosal bones
(2}, Maxilla, Quadrate ang Palatine bones
Premaxilla, Maxiila and Palatine bones
{4) Premaxilla, Quadrate and Squamosal bones

fdores® sy & opio Suonk dud dEydi.
(1) 2oBs Yrovgw, |Sulroh 5y sebal ey
{2) =odiEen, Léuuar.‘g a0 ol B‘“GS%

a0l s® Jrovgen, 2ofo ook wusf‘gﬁ:e
4 =ods grogen, Lﬁﬂow”g A STeVHY %e;:grmv::;p:r

61. Which of the following are true to the prototherians 7
A, Pectoral girdle is associated with *T” shaped interclavicle. ,
B.  Mammary glands arc modificd as sebaceous glands.
C.  Pelvic girdle possesses cpipubic bones,
D. Vertebrae are with epiphyses.

The porrect stalements are
w(cnandc : {2) AandB
{3y CandD {4y BandC

[ Rocr dHels DobS DO FgpgSa ?

A abbeod® T us U wodfds sok. .

B, $553 fodes Srdy B8 § [Hodes S8ED. -

C. [Fadgest ezu“pa#?g mEen Fexy, |

D. Snarees Jhpdoc podbron.,

DG TEHpgLR '
\g}m&aamc () A®HOolB .

(3) C&batsD 4) 'IB H8als C

Rough Work '
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62,  Swdy the followmg table :

Mww.hellogiri.com

—_—

B00 B8 wisgabisan Do,

' Subclass Skutl Example |
A Anapsida Anapsid_ fHatteria
B. | lchthyopterigia Svnapsid Pelveusunris
. Synaplosuura Furyapsid Flevinsaurus ]
D L.c:pirinﬂaﬁriu Diapsid Condasauria

C
D

(1)

= PR T PASY S gyeErden
-:ia*?:g@“ .- i de E’a‘@ﬁloﬁ“
2§ T o r  Ting ERERget
DA B Hrboteing RS
TuE el Bolring S WS T Bolr
Which one nf tﬁ.e above is correct combination 7
P Boows oo I8 Y
A (1) vﬂ{l C (4 D

63. Smudy the following features of a {ish -

A
C.

(b

[Boi BEL & & J ofrrelk sdpobdo Sk,
28 o e plaad

A
B.
.
.

It iz a erossapteryvaian fish B.
[t does not exhibit aestivalion. L,
Which ol the above arc tue o “Neocarafodus™ ?

Aand B (2}

B and D

5

| T

28 Derinib & ko,
20 (g see SAnEE [S505085.

=8 .4 oieBEHOE 20

It is found in the river Chalurmnag
Il 15 an urccotelic animal.

{4 AandD

AM 2008 A

Poddt IGFRISTERL Dold BB Trgigen S 7
(1) ARDB (2)

B 50 D

G adsaic

(4)

ARBan D

Rough Work
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64. The macromineral essential tor the formation of insulin is

(1) , Magnesium v (2}  Chlarine
v@{ Sulphur {4} Todine

B OS GBS SDRPANT ProPihE ple reto

{1 Bzﬁlboﬁo 2} §od
\jﬁ, &uaﬁ {4) od&@rdR

65.  In rghbit, the two fibro-elastic strands of the larynx extend between the
\Hfh Thyroid and arytenoid cartilages
(2) Thyroid and cricoid cartilages
(3)  Santorini and thyroid cartilages
(4}  Cricotd and tracheul cartilaginous rings

Dodew BIHBES o8 wd 2BFDE wfming LA Sodkyey o e wgod
aodhnds, '

W Boranh ook [H80 ydionn e

(2} Borond ddob Bysrond ﬁ:‘jnﬂaw;@m

(3} @“Dﬁ{EE} B0l q@moﬂﬁ é:a::&:m{‘;:w

(4) Baysmcwd Ldofs oivared Ry HOOHW

66. The artery which supplics blood 10 the pericardium is
{1) Brachual artery (2} Coronary artery
(}) Vertebral artery Mlntemal Mammary artery

sraciofrbden &M% Yk HdEo S0 Sh0

(1) e S {2) ?’.ﬁgé AR
(3) £35S \m’ 0BS5S S0l
Raough Work
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67. Rcad the statermnents . ‘
A, Preganglionic norve fibres of 111, VI, IX and X cranial nerves are a part ol the
paragympathetic nervous system.
B. V. VIL IX and X cranial nerves are mixed nerves.
. ‘Trochlear nerves are the largest cranial nerves.
D Abducens nerves arc motor and originate from the gassenan ganglia.
Which of the above stagements arc correct ?
(1} Aandl} \,(ZFI?A and B {3) BandC 4y Aand C
&1 oegmuoin DGR
A IL VILTX, X 8re ardbe ood Hob Gpds ord Sodifee B DaReird
3d) &gé@t‘i’& 2 ¥
B, V,VILIX. X $&ro it dyidn o
C. (82060 aochen & 28 firo s
D. @egﬁﬁg ar e, ﬁfa{:}aoiﬁ oo Dol ol .béad trers edor.
B T H0GID Frewpen Al
(1} ASdoinD @/Amamn {(3) BaeboleC (4) A &obBa C
68. Study the following table _
| Endacrine gland Hormone Deficlency disorder
A Neurchypophysis Vasoprcssin ) Diabetcs wsipidus
B, Adrenal curtex Corticosteroids Addison’s diseasc
C. Parathyroid glands Parathormone Myxoedema
D. Thyroid gland Calcitonin Acromegaly
The correct set 18 (20/
(1} BandC Aand B (3) Cand D {4) AandD
1800 HYPEL weigoldo Dofimm,
wodd [Hod et S &*dglrany S50
A | Brglf raTRRS S PRD GRS arybEs
: B. wihi,¥) DU L0 s-gg‘ Qmw&m RTYS TS
C. ey Bdw [Hofom Em@*ﬁ‘aﬁ Qo8 b
D. | wibdw \fiod : TBJ&E“DS .DL?BJH'-D
POGLE =E
(1} B:doinC Q/A £08cfe B (33} CdBalwD (47 AHbalnD
Rough Waork
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69, The renal fluid isotonic to the cortical fluid and bloed is found in
(1) the collecting duect and ascending limb.
{2)  the distal convoluted \wbule and ascending limb.
the proximal convoluted tubule and distal convoluted tubule,
(4} the ascending limb and descending Limb.

SEIuR, hep o (Sddud Slmdd de 58 @he w0l rodo
(1} Ho|fira a¥o, abire e i) -
(2)  Grorii Hoddd 0¥, witird i
\p( 8D DoHRS T PE, droe | HodPd T
(4} w8ircd arfrad), w85 irs ar el

H Study the following .
A, The accumulation of pyruvic acid in the muscle causes fatigue.
B. ATP 15 resynthesized in the muscle by the phosphorylation of AW by a
phosphagen.
C.  Cori and Cori cycie occurs in the muscles.
Ib.  The phosphagen in the vertebrate muscle is arginine phosphate.

The comrect set of answers for muscle contraction is

(1) AandD (2) BandD {3y CandD \(4( Band C
(B0d e wesgatibo Pobudw.

A Sodsind® pHDE ubidn Sodabio dod vodh Eotbi,

B. $o48%wd® ADP, g&al by @-&;aaﬁ 280 ATP ddadoTdnndpb.
C.  F0-E'0 Hoabo SosdBned® . |

D. 38i0se $odoud’ uhds Rl eb 8%as dodib.

¥odkd ;’:aE‘ﬁﬁméé: Donofo ROGHE wariu edy.

(1) Ad8c¥uD (2) B&bokD {3) C&eboeD '(H/B oo C

Rough Work
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Study the tollowing :

A.  Testosterone influences the male secondary sexual characters.
B.  (ustation periad in rabit is approximately 276 days.

C.  Bulbourethral glands secrete a vaginal lubricant.

D, Placenta secretes aestrogen.

The correct answer is
Aand D {2) BandC {3y CandD (4 AandB

|Bob .a'r."SE‘-} wc‘,ﬂguﬁ"mo Do,

A DD Esgﬁoi'.t Boh¥ wirred BTHoeD Sy ddo Doknl.

B,  Sofeud Ao yhe srae Ldrd 276 Eleme

C. o) ohd|ES Hofe JoRs o Grd drgemy S o,
D aoobiy Sifd S o,

o SErILe b
fﬁé}amum} B &80fs C (3) C&BalD 4) A &bGoB

72. In guinea pigs black short hair (BBSS) is dominant aver white long hair {bhss). During a
dihybrid cross, the F, pencration individuals with the genutypea BBSS; BbSS, BBRSs and
BbSs are in the ratia of .

A dothed®, daify, Y Sre oforor (BBSS), Buwdy iy Fare o oD (bbss)
wirdd demoly S0A Hoduk. &3 Bo¥ln HEIPMe, Bedul ordddind JUNGE
moéd-‘:ﬁs BBSS, BbSS, DBSs :uooiv BhSs azrng Sridee El-“gé'.%

(1) 9:3:3:1 (2) 4:2:1:2 3y 1: \.(4/1

73, In heterozygous condition, the mdmdual cxpression of both the alleles in the phenotype is
cxemplified by
{17 Colour himdness @f/ AB blood type
(3) BRh fuctor {4) A and B blood types
FUATY oﬁsﬁéﬁ 205, TJod oy DBeysrer Sy Srded®  Hedodons
DgSEB0BNALD o irdn
(1) %% wosdedn \zz(ma 5% Bisitn
3y Rh s=&%an ' A &aﬁm B 4§ R§aw

Rough Work
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74.  Crossing of unrelated pure breeding animals of different traits within the same breed is

cailed _
(1) Cross breeding \m' (ut crossing
(3) Close breeding {4) Species hybridisation

o8 Peandod® (sume breed) 2208 dsruH Dobd Honado B B (e dHo Sogly
R0DE) 6 B8NEmdy

() (5°0 |9%af wodrd M’ SIE |5eRen wulrd

(3} o8 daird Ratio wodrd {4} a3 Do|Sime wodrd

.75, The strand of DNA acting as template lor m-RNA franscription is

A, Coding strand B. Non-coding strand
. Sense strand D Anli-sense strand
The correct answer is

{1y, Aand C {21 AandD

\ﬁﬁ/ Band D ¢4) BandC

m-RNA eoBngrdéd ol dodone adamksd DNA 26 -

A B30l & B. =3 E&oh 2
G g Doz . & &:5@-35 el

DG ez

(Iy AmdokC (2} AdubBolD

#~ B&oum D (4} BaubomC

70, The peculiar primitive animals found in Madagascar but absent in Africa are

(1} Elephants {2) Penguins
Lemnurs {4} Lchidnas
AT S k(@b 0300, wped’ TR, PEgEH EONS |rEE a0 85en
(1) e (2) DoRgSen
(}/ G (4) OBarmyes

Rough Wark
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77, “A brief reduction in size of a population due to natural calamities usually leads to random
genetic drift.” For this statement, identify the ¢orrect example from the following :

{13, Human population of Pitcaim Island
Polydactylic dwarfs in Amish population

{3} Long necked giraffe '

{4) Industnial melanism

88 EB:)&-!FEE bub e e SASrood’ LTom =0T §HMhde iﬂ.smﬂoﬁ:é
B3uE 358 @0 8ob. HI0 D580 tuwrddni Bob aU fod Moy,

(1) DbSEoLHO Led warer
\(é{ ihd e S e B % gorbwr e EDRS drgardy

() oTH s 1OAD 2o

() SrByTIbE wrgawELo

78. Study the following .
A, The cells of malipnant tumors divide erratically.
B.  They are malignant tumors of epithelial cells.
» C.  They are malignant tamors of organs that originale irom mesoderm.
D.  These tumors are found in organs such as spleen and lymph nodes.

Which of the above are true for angio-sarcoma ?
{1y AandB {2y BandD Aand C {(4) BandC

[Bod ardd edigobido Thodus.

BT ol Grginld® Seren, Daboden Sirdorm Ko DUfmd e,
B, udad Swod® J86NE Sronod erginbes.

C. = dgdghieso od Qiﬁ;}a ghokhore Grdmod éarg?’-:aﬁtu.

D g Hdrhn Dok Fash Emped” Jdd trganbes.

o

P oSS yoR@rEh Nl HOELR Srgpgen
(1) AbofB (2) BadowD A SBon (4) BoboeC

Rough Work
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7Y, Study the following pathogens :
A, Yersinia pestis B.  Borrelio sp.
C.  Oidium albicans D.  Micobactrium leproe
L. Haemophitus galiimarium
Which of the above causc damage to poultry industry 7
(1) AandD W Cand E
{3) BandD ' i4) DandE
Gt (200 gl g Biyon edyolbo dobibs,
A @DBy00% BP0 B. &S00k ard
G &dond vBysSy D. R eri0olr BB
E. ara@rdod mdIdato
08" D B¢ HOPERE B Do ?
(1) Ao D of 0ot
(3) DBwdoiuwbh 4y DawBolw b
80, The complexes formed during immune complex mediated hypersensitivity are removed hy
(1)  Eosinophils and Te cells
{2}  Monacytes and B-lymphocytes
Losinophils and monocytes
(4)  Eosinophils and basophils
BT e ﬁo§§ EpBoss TH8 WUDSST 26188 BolRrud Fonoda
(1) 2T ool Te e
{2} BPEEEJ s0body B-Dodiuden
\(3{ 2R bEY W oy Irdf
(4)  ScBLT Loy ok HPpa)
Roupgh Work
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PHYSICS

81. 1f power {P}, surface tension (1) and Planck’s constant (h} are arranged so that the
dimensions of time in their dimension formulac are n ascending order, then which of the
tfollowing is correct 7

.:J=fmggs’m (P), doddpd (T) Zxbody Irok Eguvoém (h) o3 ool ol b
@"Dti:ée:“ég seofw e abidrer (Khod" Yol sib a2, & |Bobel S HBe asdta?
w‘/ P, . h 2y DPhT (N T.P.h 4 T.hI

— PN Ho M A 3 - . .
82, Three forces A — (il 1 k), B—(21 -7 +3 ﬁ} and © acting on a body 1o keep 1l 1n
»
cquilibriwm. Then € 1
' A S S R o A i
L Sd) Sherpd® oo A - (4] k), B - (2o ) + 3 k) @
»
Do ek C Jeb
W Giay @) -k () 4 4y 23K

$3. A person of mass M = 90 kg standing on a smaoth herizontal plane ol ive thruws a body of
mass m — 14 kg horizontally on the same surfice. 1 the distance between the person und
body after 10 seconds iz 10 metres, the K.IE of the person {in Joules) is

90 kg. Hagord Ho 28 55_% 28 e 8w Dhradd D0 dulwe dond 10 kg
Skeomd He o8 Siplie o Bels 2 §Be Sirodsinm M0, 10 08D #bhami
DS, B8 Digg drddn 10 m wond, & Bpf N %§ (&5 &d®)

0.45 2) 45 (3) 090 @) zero

B4, A man is walking due east at the rate of 2 km/hour. The rain appears ta him to come down
‘vertically at the rate of 2 kmhour. The actual velocity and direction of rainfall with the
verticel respectively are

&4 Rl drihyssh Kot 2 km Fried ddpodr, HEEw Kokl 2 km IMod |Losd
adhdyte Ablowrd. HEHN shw Fide Lio ob HRdHHH O e &
Fode Bepthn Sdme
* a L o
\ﬂ( 22 kmph, 43 ) g5 kmoh, 30
(3) 2 kemph, 0° (4) 1 kmph, 50°
Rough Work
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The object at rest suddenly explodes into threc parts with the mass ratio 2 : 1 : 1. The parts
of cqual miasses move at right angles to each other with equal speeds. The specd of the third
part after the explosion will be

Sy Eg@-ﬁ‘s WYy o8 Dy Foedr (B Do Swiy o JAToudh. o e
Gy ovibe DI 2:1:1 Sard (i orber Ko Sod dwi) e D & V & 28
e 588 corone Lmuiﬁzﬂ.a FR LTS T é.uﬁa_ ﬂ.uﬁa_ ol

1) 2v \m"vw" @) viz2 (4 IV

T'wo balls of same mass cach *m’ are moving with same velocities v on a smooth surface as
shown in figure. Tf all collisions hetween the masses and with the wall are perfetly clastic,
the pussible number of collisions between the bodies and wall together 15

T tﬁ“@gm-"? ‘m' Ko Do modion D&dwndt drdnd S&um v S 16}&;&3
GHOSeCD [Hoirdoddn o woder ok b Kd by edirorw
gﬁbﬂéo @m%ﬁ‘ aoduey Sdah K Loede o2 287 Audo wiirerw Howg

{1y 1 {2y 2 w/fi {4} infinity

L

: m' _ _
A body of mass ‘m’ strikes anather body at rest of mass g - Assuming the impact to he
inelastic the [ractivn of the initial kinetic energy transformed into heat during the contact is

m ($HgoeR Ho w¥ S Voo By o Sig o Ao ITE SpHE G5HL.
LT ATO TS @mjiﬁa}éo wond &0 4848 SRor &rdd e Ko

Mﬂl (2) 0.2 (3)y 0.5 (4 .64

Roupgh Work
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88. A body of mass ‘m’ is placed on a rough wooden plank. One end of the wooden plank rised

. Irom the surface of horizontal plane keeping other cnd in contact with the smface. The body

just stans slide down when angle of the plank with the horizontal is 30°. At that instant how
rnuch force parallel 1o the plank is required w stop the slide down ol the mass 7

m (SheTrd Ko a8 Sy Al 35 Suop GoSnahs. 9 Solf ol Uhd dera,
s Ehdn ¢odl, Dodd Wbtk EBard8 30 Glhe Fnod 28 Thlid, 8 LD (S00E
U0 |ardoDoTiol. eyt QLY. derdB SHrrod i dod weril DErhod
G S 2 ER0E sBEd)N '

(1) mg
3
m B

mg

S
) 7
[

{4) ‘J_q g

89. Assertian (A)

Reason (R)

A ball connecled to a string is in circular motion vn a trictionless
horizontal tahle and is in equilibrium.

‘Magnitude of the contripetal force is equal to the mugnrtude of the

tension in the string.

The correct answer 15
{1) Both (A} and (R} arz true and (R} is the correct explanation of (A},
(2) Both {A) and (R) are true but {R) is not the correct explanation of (A).
{3}, (A)istruc but (R} is not true.

\LA{ {A) is not true but (R} is true.

wANBSR (A)
e (R)

S0 GS Shrgrbhy

a8 roedE Dogrdo Db 208 dm B E8aireudd woabd
SyErsE kitod” Hod S JES” God.

&

efEoS swwo o HBErwo oGRS éé'geﬁ Hidomem D8

(1} (A) oBal (R) Bod ey &Bak (A) GoE), 50 saud Jdn (R).
(2} (A) BuDodn (R) Bud adyp 570 (A) Go8) 90 s Dbde (R) =k,
(3)  (A)edry 5°0 (R) 85y

G A) S5y T (R) 28y,

Rough Work
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Circular disc of mass 2 kg and ruling 1 metre is rolating aboul an axis perpendicular to tts
plane and passing, lhmugh its centre of mass with « rotalional kinetic energy of 8 Joules. The
angular momentum i {1 — see) i

2 kg © G5 0% boak | Dok pgddin fo o Sjaed DY dovlE vomorm
(bR E‘u@&u howe 3F iy Syare 81 58988 |iumo Safoildnd. eond
wed) Fedat |l 3o (Jsoc) o

() 8 @ 4 3 2 @ 1

of,

[T the Larth shrinks such that its density becomes 8 thmes o the present value, then the new
duration ol the day in hours will be

Pk Go8y oS R Gl Jenkih B Ddn wthibdn drdd D08 DR, with af e
STORERG Hoved’

1y 24 2) 12 N 4 3

92,

A gitl swings on & cradle in sitting position. If she slands, the time period of cradle
decreases
{2} increases
{(3) remains constant
(4) first increases then it remains constant
28 2rDE Siobud® Syl Sihibhe. o oY dondd ko U wobe edd
5 =

W ssion @) Dhiodos
(3) o Sotsod (4) | Twiit> DON e S0,

93.

When & wire is subjected to a force along its length, its length increases by 0.4% and its
radius decreases by (.2%. Then the Poisson’s ratio of the matcrial of the wire is

28 Sip ud ddorr wf wordy [HOTRoNbpd TR PEHS' vRlde 0.4%,
TP god® S 0.2 % wondS v &4 dorg drower S D3
(1) 08 J2r7 03 (3) 02 4 01

Rough Wark
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A capillary tube is taken from the Earth to the surface of the Moon, The rise of the liquid
column on the Moon (eeceleration dus to gravity on the Earth is 6 times that of the Moon) is

.{)J/ six times that on the Earth surface {2} % that on the Earth’s surface
(3} equal to that on the Earth's surface  (4) zero _
2rih P00 of AT OER Bothd S BVEN JFAHE © Fhrd3s' Widono
iy (Zrdn e otodle Hodimo SOl Hodoady Sederl 6 D).
2 208 ey MK 6 Bl BowoB.
(2) el e &by JEST 65 Sods dokuod
(3) 2 g oy |ESHowe DFaK HhrHor Hotod
(4) Ardgiapdiod.

A solid sphere falls with a terminal velocity *v* in CO, gas. If it is allowed to fail in vacuum,

95,
(1} tetminal velocity ot sphere = v (2), terminal velocity of sphere << v
(3) terminal velocity of sphere = v \(,df)/ sphere never attains terminal velocity
e 08 Bio v wodg FHos’ CO, arotne® (Bot Dikdiob. wi Ao drigod® |Bod
Sddgn S8 Ao
{1}y Fede godg St =v (2) Ffiw wody S < v
() Fen sodg 3kd0 > v M B b sodg It sosd:

06. A two litre glass flask contains some meroury, It is found that at all temperatures the velume
of the air inside the flask remains the same. The volume of the mercury inside the flask 13
(o for glass = 9 = 107%/°C, v for mercury = 1.8 x 1074/°C)
Bodh O&th ¥F b e IS Fod SO0 0. wey, afide B8 g, &
&y mh Gingy e DORrER SSrmHom &:’nlgané gﬁgréﬁ ey arddn ok
SORmesy '
(e a =9 x 1079°C, dddin y= 1.8 1074"C)
() 1500ce. (2 150c«. 3 3000 c.. \yn/ 300 c.e.

Rough Work
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A lead bullet, of initial temperature 27 °C and speed v’ kmph penetrates into a solid
object and melts. If 3% of the kinetic energy is uscd to heat it, the valuc of v in kmph
i (for lead: mclting point = 600 K, latent heat of fusion = 2.5 x 10% T kg™'; specific
heat = 125 J kg~ K1) : '

o8 iy &8 ihoth TO SFUTH 27 °C. 1w oo v lnph Hio8® wEHBSTEY
DN T Dow BN, © Hod dBe 1S 50% Srid 33
Jodharas dhcirdadd v Deod (kunpho&®)

(i | SDES Pdn - 600 K, \shesd Adhe - 2.5 x 107 ) kp-!

DFFBo =125 T kgt K)
(1) 3600 \gz)/ {800 (3) 1200 (4) 1000

One mole of an ideal pas undergoes an isothermal change at temperature “T° so that its
voluie vis doubled. R is the molar gas constant. Work done by the gas during this change is

SRS T 855 o8 B ety sail) oob {0 $0ErmU v Dododes edbpm B
affiier arpsido Dobod. R Rrweb araiy Homoo. B Srdye® arabg T B

{1} RTlog4 (¥ RTlog2 (3) Rllogl (4) RTlog3

4g,

10 gm of ice at - [ °C is mixed with 100 gm of water at 50 “C contained in a calorimeter
weighing 50 gm. (Specific heat of water — [ cal. gm ! “C"!, Latent heat of icc — 80 cal/zm,
specific heat of 1ce — 0.5 cal/pm/™C and specific heat of copper = 0.09 cal/igm/°C). The final
temperature reached by the mixture is

50 | |Sigord e oof BE™H Qb 50°C B 100 gm 8D EO0 Gp. 10°C B8
o 10 gm © 20dd 35 80HE N8 e diGTr S (I8 DR = | cal. gm ! °CT,

foey |50 1m0 = 80 calgm, S0t DAY © 0.5 caligny®C oh DI -
0.09 caligmCY wond Eht‘é?'.:n.'l?’.m E.uﬁa, 8 et Med

(1} 255°C  (2) I0.0°C a7 382.°C {4) 40.0°C

Rough Work
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100. A body coals from 70 °C 10 50 °C in 5 minutes. Temperature of surmundingls is 20 °C.
Its temperature aller noxt 10 minutes 1s

28 BY 5 Adyped® 70 °C &od 50 °C & doudedod. 20huwe SFNS 2070
wond zoFE 10 ddbare domgd o HPRy G

{1y 25°C @{ 30 °C (3) 35°C (4) 457

101. The [requencies of three tuning forks A, B and C have a relation oy > 1y > ne When the
forks A and B are sounded together the number of beats produced is n,. When A and C are
sounded together the number of beats produced is n,, then the number of beats produced

when R and C are sounded logether is

A, B &sa C 48 Sowe Brdadirge S ododidn ny > ng > o A Dok B
18 Somods SobodELLHG Inodsro dogg ny, A Wdal C 8 doorul
dodod Supd diyodsro dogg Ny 28 B %:bah C of Zoboddhy ol
:f:uq:g

' _ n +n, .
(1) ny+n, i2) 3 n, — I {(4) n,-n,

102, Two strings of the sarne matcrial and the same area of cross-section are used m sunometer
cxperiment. One is loaded with 12 kg and the other with 3 k. The fundamental frequency of
the first string is equal to the first overtone of the sceond string. 1f the length of the second
string is 100 cm, then the length of the first string is

N ?’.ngnﬁﬁ doirdh Sohodd Harn fmégﬁ);}é Frogo fo Jod aneds e
padErsos® addirfoDe . o8 B 12 kg o wrdke, L8 6550 3 kg © zecdn
For abtarts. B0 B |Deins ity Totd 8 dndd o8 Byoedd Sdrdids.
Todd &K Srddy 100 cm wond, Rwsd 85 Dl

(1} 300cm  (2) 200cm \ge)/ 100 em (4) 50 ¢n
Rough Work '
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103, Wave theory cannot explain the phenomena of
A.  Polarization B. Diffraction
C. Compton effect 3. Photoelectric effect
Which of the following is correct ?
(1} AandB (2} BandD \L&(Cand[} (4) Dand A
d501 Derodod’ THDoSEN &yRghotin |
A Gypea B, adho
C. sops HOdE D. P8 ddogd DS
g (Bob 2eDE° HOTHED 06 7 ,
(1) Aa&wbowB {2) BinGonD \(Z{ C snbciu D (4) Db A
104.. Tn Huygen’s eve piece
{1# Chromatic aberration is not eliminated
Spherical aberration is completely climinated
{3) Focal fength of ficld lens and eye lens are equal
{4) Cross wires cannnt be provided
%y v Sefod”
T Sy DbEHo Fefoduib
\p/ Aot Dbgdo Hr0m Fofodntidiod.
() TS So%in oo ¢ Sotine Fyffodurer Dbl
(4} g diiey $VGErROUBD,
105. Solar spectrum is an example of _ _
(1} lin¢ emission spactrum " (2} ‘hand abscmption spectrutn
\,{ﬁ% line absorption spectrurg {4) continuous emission spactrum
CataRTe) dhdn A8 Sorisrde .
(1) s Do $ddeo (2) e dPse B doo
Fhe der DY Do (3} DG aerd HE Dbo
Rough Work
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106. In Young's double slit experiment using two identical slits, \he intensity at a bright fringe on
ithe sereen is L If one of the slits is now closed, the intensity of the same bright fringe on the
screen will be

opoll mow DOE PArfost 23 SRrRH dok nlded aHGEArA0D DSy B,
Bl HUE Gty BBE L i o8 DOLS Lrndnd BER o digBliah B
s '

|
() 1 {2y 12 Jé( 4 | (4) \f_'i

v 8

107. Two bar magnets are placed in a vibration magnetemeter and allowed to vibrate, 'They make
13 oscillations per minwe when their similar poles are on the same side, while they make 20
oscillations per minute when their opposite pnieq lie on the same side. The ratio ol their
magnetc noments is

Kol wobdyod rdfdd® Tol domubdirpoesws Gol Hobodar e,
sl o8 Meed (e oF Zy ohydyd ) 28 15 Fowew deos.
BchI 0 Jerd Simrer o8 Iy Gdpd ol Dardd 20 Fogre dmon.

&g éowmﬁﬁb&oa:;}@ﬁs’w?@ N8

(1) 7:23 25:7 (3) 25:16 (4)  16:25

108, A short har magnet placed al a certain distance from a deflection magnulomeler in tan A
position produces 1 deflection of 60°. The magmet is now cut into three equal pieces. If one

picee is kept at the same distance in ‘tan A’ position from the deflection magnetometer, then
the deflection produced s

Tan A gﬂéﬁmﬁs BREY2ED wf &g dowrobdm oddind ebhdl ol 08 Lvddy
Wod Fod drdans® aoddpd 60 3ho sXhive Swidoi. @ walidr ofind
Fapdy Lrdy JArdRs dwdHour SobadBd. eothdstn 2 By wandd
soh s drafhn wod sof &rddud® TanA rodnd” il wd
BeniZ oy @ddnin

(1) 10° {2) 20° \(rﬂj/?:[]" (4} nd°
Rouph Work
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104, A charge *Q" is placed at each corner of a cube of side ‘a’. The potential at the centre of the
cube is
‘a7 4hei0 Mo el gudin GinEp DB ?ﬁm R QT e Hémbl GOt @ oS
So[ddn oF FBJANT SD@JE»‘J
T E 4?1 £ -\E X Cya T & i

110. A charge q is placed at the mid-point of the Line joining two cqual charges of Q. If the whole
system 15 in equilibriun, then the value of q is
e.%“}ézrdﬂ Q o o o MgurEero 00 Tpp iy Dothiy B8 q v adic
GOy, winpd @ Iude HEb Mo ?g@ﬁ’a & o q e

(1} —% (2 +—?‘ M-% (4} %

i

111, I and V are respectively the current and voltage in a metal wire of resistance 'R* Two I - V
graphs at twe different temperatures ', and I’ are given in the graph. Then,
I

T,
T

»Y
R ifgo Ko o8 &y &1 el [doririm, S'Paes HHm 1 wiah V. 3 36
adiKden T) 2ol T, odd [V (mHen a:mmﬁ‘ irDdedhia. wdd,

1y T,=1, 2y T,=T, Jaﬁ/TH*iT 4y T,=21,

112, A pm_]ectur lamp car be used at a maximum vollage of 60 V, its resistance is 20 {3, the
series resistance {in ohums) required to operate the lamp from a T5 v supply is

2¥ [PBELD wupdh SHEPBOBENS Ko Sge 60 V. oo 380 20 Q. we
75 V d6Hovd ad@rhodarnd B ﬁcad;smzs o (am\‘?
(2 (2) 3 3y 4 5

Rough Work

495


http://www.hellogiri.com

MWw.hellogiri.com AM 2008 A

113. A heater coil working on mains produces 100 calories of heat in a certain time. Now the
heater coil is cut into three equal parts and one part is only used for heating. The quantity of
heat preduced (in calories) in the same time is

2898 BoonSy& HO AL wlf Ired 8K Fodf Tnavod® 100 Sobo it Sdnd ¢
Srtody XS 3 0% grren B wold® 8 oD B8 38 Takirds edaray vd
yod’ mlod ois (Fobod’)

j 300 2y 200 (3) 10043 {4) 2003

114. A circular coil of wire of radius 't has ‘n’ turns and carnes a cﬁrrcnl: ‘I'. The magmete
induction (B) at a point on the axis of the coil at a distance +3 r from: its centre is
raEgrdie, n i 4l wE 84 SpS' [ xigh Pardrin did. v 81 g v
So|fo #od \f3 1 &rEos® DBD Dol B w08 (b (B) Dend

In In TP} In
m 2= o % ® To7 @

: In coyved gph‘tﬂ‘uﬁ-

1135. The north pole of a bar magnet is moved towards a coil along the axis passing through the
. centre of the coil and perpendicular to the plane of the coil. The direction of the induced
¢urrent in the coil when viewed in the direction of the motion of the magnet is

(13 Clockwise
Anti-clockwisc
(3} No current in the coil
(4) Either clockwise or anti-clockwise

w8 Soarobdgodin vk, ads Gdtud 2f aX Db erdd nowor Botr
Soc oo D sfo Jowd SI0H BN, (W08 AigE |Hocdrin &%
wold o €68 &4 hooe SribHd

(1) 4o

W Wb g B

(3} A SyS® Mgl Parirde dodds

(4) Dip &% Tor wid Gig 0F

Rough Work
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116. A transformer has 1500 turns in the primary coil and 1125 turns in the secondary coil. Ii’ the
voltage tn the primary coil is 200 V, then the voltage in the secondary coil is

2 DONYENL |gand dwalod® &4 By dopg 1500, Tw & iﬁa%@si} sy oty
powg 1125, 3808 becbod” §52 200 V wondpkh o duabed’ Fga deod

(1 1wov \m_f 150 Y

(3) 200V ) 250V

117. An oil drop having a charge was kept between (wo plates having a potential difference of
400 ¥ i1s in equitiboum. Now another drop of same oil with same charge but double the
radius is introduced between the plates. Then the potential difference necessary o keep the
drop in equilibrium is '

§od Eﬁ:gmﬂéﬁm Ho o Bo Dodiiny 400 V 8 Dddw No Totkh Hele T
BSOS pd B Divee PBS” wob. Dol ogrgo ¥OR, wod Nigordihn Ho of
- aord Be Doy @ Dele DEg GOUNIHE W Dives %Enﬂ'j‘ Godorod

BB EGSy 48y Pesino
(1) 200V (2} 800V

(3) 1600V | A 300V

118. The threshold irequency for & certain metal is v.. When a certain radiation of frequency 2 vy
15 incident on this metal surface the maximum velocity of the photoclectrons cenitted is
2 x 108 ms™! I a radiation of frequency 3 ¥, 1 incident on the same metal surface the

maximum velocity of the photoelectrons emitted {in m.5~ 1V is

Ll 08 wdogf ddigin v, u FE doodh 2 v, THRgd) a8 JUmiw
DEbonEpd S endduiy wod Jbdowd FE-Jogmbe H8Y Sidw
221000 s S S0P 3 v, Triudiiganid J80man déniontgt Hioons
Sogyie K80 Sk e 60)

Sy 2% 108 Mzzxwﬁ

(3) M2 x 108 : (4} df3 x 10%

Rough Work
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119, The following particles are Baryons :
Nucleons and hyperons
{2) Nucleons and leptons
{3) Hyp::runs. and leptons
(4y I{vperons and Bosons

& 306 dere Hoote

Of drgtotri fbat do
(2) ErgRofri SOk P
@) Do LBk DY

@) rdovi iebobh flariven

120. Ifan intrinsic semicanductar is heated, the ratio of free electrons 1o holes 18
{1} arcater than one

{2} less than one

\jJ{ Bgual o one

(4) decreases and becomes zero

Dgerie of Sirdiud 36 IubHt oy dogabe Ldak dogre g Ang
(1) eS8 S5y 558
(2) wE& Exm) 8D
& e iy
@) 8D Ardghton

Rough Work
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CHEMISTRY

121. The wavelength {in i] of an emission line obtained for Li** during an clectronic transition
Irom o, =2 ton, = | is (R = Rydberg constant)

Li** earhd® of Joga®  n, - 2 85 %od n, = 1 Shsth 004D Boddydk
Bevdtds atrd i aboy, S0 BEokn Jevd (A 08" (R = 05w Hurokin)

3R 27R | 4 - 4
m @ = 3 38 @ p
122. Match the following !
List-1 List.I1
nh . .

(A) mvr- o {1) Paschen seriey
(B} Infra-red (i)  Elcctron fotal encrgy
€ A= % (iii)  de Broglie equation

gl
(D} _ZT‘_"' (iv)  Schrodinger aquation

(v)  Bohr's equation
1808 a8 ed DEDo.

aRe-1 e |
(A} mvr= ;—2 M RS |Hd
(B) oodimm (i) Qo5 dudo 48
© & -% - i) GESA BRu¥Yemiw
(D} _2—";2 | (iv) DBoAS HESmEm

. v) &6 HuESemim
The correct answer is / FGODLS HargEDiw
@A ® © O
() &) Gi) G 0
(2), (1) (i1) (v) {iv)
(v) () (i) ()
4) vy (@ () (i)
Rough Work
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- rticl - article - [ particle
— B particle o panicle - i particle

123, A
In the above conversion, which one of the following is not true ?
(1) A and D are isotopcs
{2) B and C are isodiaphers

{3y € and D arc isobars

Mﬁ and B are 1sotopes

4 [ Sepdx o Sz —f Sroda

y B - a3 —m——= [

© ardneds 20e0H0D, & (Sod T8 26 Jeow 5
() A, Dev o e
(2y B, C e pddobrdbas

(3} C,D w odJfurde

M A, B e 2T & e

124, The elements *X’, ‘Y™ and ‘7’ form oxides which are avidic, basic and amphoteric

respectively. The correct ordar of their eleciro-negativily s

N, Y 2 R durosroo D edsofud, gricind Rdody Oy Jgerd w8 e
:*ﬂﬁg_'ltbég‘"m. TS e ddgeed) Sdo D0 GhT (SR

1y X»Y>Z

2y ZxY=X

\;a(x:az:r‘f

Rouzh Wurk



http://www.hellogiri.com

125, March th

e following

List-1
(A) BCH
(B) P{.iBrE4
(Cy SF,
Ly 1,
|Bod D 2 DUBadk
alze-1
Ay  BUL
(B)  PdBr,
€y Sk
© o,

“The correct mulch is

ﬁ&@:’a 23t
(A)  (B)
{1y (i} {iif)
2y & (i)
7 (T I 10
@ (v (iv)

126. The carrect order of dipolc moments lor NH,, H,0Q and CO, molecules is

NII;, H,0 &8cty CO, smde Dediyh privgo denke $0 wowd S0

()
{iv)
(it}
{1v})
fiii)

(1) NH,>H,0>C0,
(3) H,0>C0,>NH,

http:/gww.hellogiri.com

)
(i)
(1)
()
(i)

(i}
(it}
{111}
(iv}
(v}

(i)
{11)
(i)
(iv}
(¥}

List-11

Lingar

Planar Trniangular
Tetrahedral
{Octahedral

Square planar

L1l
BROHO

s |Bgbeo
Seoting®
SRR
S8 Svdeo

AM 2608 A

~ (2), €O;>NH; > H,0

H,0 > NH, > CO,

Rough Worlk
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127, 40 grams of a sample of carbon on combustion left 10% of it unrgacted. The volume of
oxygen required at STP for this combustion reaction is

40 |réwe $EyS droin SEdo Joom wodhs®  10%  Sdmdo adimom
R onod. g G ﬁﬁg& STP 2 TTROND EQJEE pKle vl s!

(1y 2241 w/ﬁ?.z: (3 112} (4) 4487

128. In a flask of ‘V" litres, 0.2 moles of 0,, 0.4 moles ol'N,, 0.1 males of NII, and 0.3 moles of

He gases are present at 27 °C. If total pressurc exerted by these non-reacling gases is 1 atm,

the partial pressure exerted by N, gas is
fﬂ,d arm 2y 03am (3) 0.2am (4) {.1atm

27 °C B¢ V" foid HDEreo Ko of FRn S 0.2 360 0, 04 S0 K, 01 &S ©
NI, oo 0.3 3rd o He arcluen o3y, Sarald 1555 Zrodia €3 iy an|FRso
GIn¥%), 3o bifto 2E iRkl sandl N, oy s a§s 25d0

M ﬂ.ﬂla:lr’ﬂ“& (2} D.BR:E {3) U.ZJ&:‘% (4) D,IJL'?,J“&

129, The volumes of rwo HC! solutions A(0.5 N) and B (0.1 N) to be mixed for preparing 27 of
0.2 HC! solution

y 0537ofA+157cfB (2) 1L5lofA+05/cfB
{3y liofA+1/0fB {4) 0.757cfA+1.25/cfB

2 & 0.2 N HC! joede Dy Sairds Tobards Seofbotie A0S N)B (0.1 N) o3 Sok
HC! (oribeme 0 H0Nrednes

M/!}.SEA+1.5®E (2) 158A+05b8
(3) 1&A+15B () 0758 A+125ER

130, When 0.1 moles of an acid 15 added to 2 litres of a buffer solution, the pH ol the buffer
degreases by (L5, The buffer capacity of the solution s

Bodk D&Y wb |mrdarlt 0.1 Irdo wiphoin 3000 v apd pH Qo 0.5 et
SRS, © [Lrdwo GE; 2amb Qbéaggd

(1) 0.6 () 04 )y 0.2 \x)/ 0.1

Rough Work
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131.

132,

MWww.hellogiri.com

Identify Bronsted-Lowry acids in the reaction given. .

08 388" pra3pG-9"8 wired: HBoPod.
[AL(HORPY + HCO; == [AI(H,0),(OH )1** +H,CO,
(A} (B) (€ ' (1

The correct answer is / 38023 2aew

(1) (AL @ (B), M) B A, D (4)

AM 2008 A

(B}, (C)

The cell potential of the following cel! at 25 °C {in Volis) is
1508 obln aluly ub $¥dw 25 °C HE (Foed®)

(P)H ST
[|tmm§ | mﬁ‘f M) ] ({i }’;J cu

e, )
E curticy = 0337V

{1y 0308 \9)/ 0.427 (3) 0308 (4)

0.337

133,

Which one of the following reactions ocour at the cathode 7

1308 o 8S° ==&'G x5 2200 5dg DiY

(N 20H —— H,0+1/2 0,+20 (2} Ag— s Ag 1 &
(3} Fet —— Feit + MCuE’ I 2e-——Cu

134.

AB 15 an wonic solid. If the ratio of ionic radii of A* and B~ is 0.52. What ig the coordination

numther of B— 7

AH ¥ ecirdfd fudin AY Doy B o solFo aﬂgé"g"u Jays 0.52 wow

B~ s Sdidgolb Sogyp aad?

(1 2 (2) 3 | \'m/; ()

8

KRough Wark
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135, The rate constanl of a first order reaction is 0.0693 min!. What is the time {in minutes)

136, A,

required for reducing an initial concentration of 20 mol Flto2.5mol it ?

2 (e (Saros GOg oY, Téw ;gu'voém 0.0693 ', 20 Td s w o
g, 2.5 S8 mESS SHarnd 20) Swiren Sh&0d ?

(1) 40 G 30

(31 20 4) 10

iz) —_ Hm is u first order reaction. The initial concentration of A 135 0.2 mol L. Afier

10 minules, the concentration of B is found to be 0.18 mol { 1. The Tate constant tin min™!)
for the reaction 18 '

o = E i _
Ag— By e¥ (D Bdro¥ S6g. A Ty, ooy mEd 0.2 Iedle
10 iwihos Shard B oloky aegd 018 eS| 8 1‘5;‘55 Tiw Eﬁu“ués‘m
(NEuta ) o

m//ﬂ,zsns () 2303

(3)  0.693 (4y 001

137. 100 cm? of 0.1 M IIC/ and 100 em? of .10 NaOH solutions are mixed in a calonmeter. If
the heat lherated is “Q" keal, the heat of neutralization (AH) (in keal} of HC/,, and
NaOH i5
100 em® & 0.1 M HCY &Bofu 100 em’ © 0.0M NaOH @dmeoi Sodm "0
Soobo aghy DASTHS. HOL,,0cf NaOH,., © S0586SEm (AH)
(&, srobud®) _

() 10Q \.(Z{/ -10Q
(3) -10000Q (4) Q
Rough Work

585


http://www.hellogiri.com

138

h%‘//www.hellogiri.com AM 2008 A

2 AsH

;?Fh one of the following reactions is an example of anto-catalysis ?

—_——3 2 As i) + EHM}

Fo
sy
1Hj[g‘] * EM“:}{ }

NO
8 agn

)

(2} Ny *

(3) 280

op ’Lg] gl

. Hyoo |
{4} CQIIHG”m F Hl“(!} —-—-—-}f..ﬁ];'i]joﬁm b, ”IJ”ﬁ{f‘J

Bod o8 &8 Sxuho GEyytes S dadrdn 06 7

2 Al ——» 2A3,, + 3Hy

3{z0)

2 N. +3H —u—>F LI ANSA |

(2) 2wy T E) 3w
NO

(3) 280y Oy % 280,

H'
(1

139..1F11.1 mg o Cal’/, and 12 mg of Mg80, ave present in 2 litres of watur, what is its hardness
(in grants CaCOy/ppm) ?
2 &g 9SS 111 Qe CaCl, &ibay 12 8. . MgSO, GREF, o =Edgd
{irm CaCO,/ppm) Joéh ? '
{1y 5 \91/1 0
(3 15 ' 4y 20
[4). ‘The carreet order of stability for the following superoxides is
& |Bab Srib w3 )Hho BOGHD PBy (Enty |
{1y _KQ, > Rbi), > L0, (2} RbO,>Cs0), = KO,
\j/é‘&l:lz > RbQ, > KO, (4) . KO, > Cs0, > RI:;DZ
Roupgh Work
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T
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141, A muxture of boron trichloride and hydrogen s subjected to silent electric discharge to form
A and HC/. A is mixed with NI, and heated to 200 “ to form B. The formula of ‘B’ is

oS By Eod, W@ese JErY Az Jgd adygrwd HoB BRIk,
Afbok HC! Diyderon. A NH, & ¥82, 200 °C 38 28 373, B 28)d%0b.
‘B’ Gindy, frdner

(1) H,BO, (2) B0,

\g{ B,N,H, (4) B,H,

142, 1lydrolysis of SiC/, gives cumpound X and HC/ Cn heating to 1000 °C, X loses water and
forms Y. Identify X and ¥, respectively.

(1)  Si0, and Si H,Si0, and §i0,

(3)  Si0, and SiC (4) H,Si0, and SiC

SiC/, wo JFane Dod X Lbob HC & adpod. 1000 °C B 28 Dadre, X oD
E e om ¥ ¥ Q038xpod. Xdobaly Y el &b digodod.

{1} 510, sofode Si \ﬁ( H,Si0, &foi 810,

(3)  $i0, fBoks SIC @) H,SI0, S0 SiC

143, The number of P-O bonds and lone pairs of electrons present in P 0, molecule,

respectively,

PO, smdne® 5y P-0 nogres Lok 2obd Jugrye modw Ddoggen BEdm

12, 16 2y 12,12
(3 K& (4) 12,4
Rough Werk
60 &
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144, X, ¥ are anhydrides of sulphurous acid and sulphuric acid, respectively. lm, hybridization

state and the shap ol X und Y are
X
(1)  sp®, angular
(2)  sp, angular
sp?, anpular

(4% sp?, planar

Y
sp?, totrahedral
sp?, angular
sp?, planar triangular

sp’, planar

XY e HSdire 1\:&:‘@5&@ obta T o éwﬂ@ﬂag $ArO eSwrRyder. X, Y of

Ho¥0sdn L& o0y 8 8 s,

X

(1) sp?, E'eBodin
2y sp?, Bfrdadidn

\/3{ spl, §efodan

(4)  sp?, dededs

Y
sp?, Bl PGS
sp?, S cfophin
spl, Sdndbe | Bebermddn

5P, RN SR

145, Ca{OH), Cly s A aum-cr_xidatim;
4y} HO

Identify B in the above reaction.

Ca(OH}), sz

dsoim ugn‘jgﬁ
( &) —H,p

D B¥gSt B2 Hgodod.
(1) CaOC/,

(3) Ca(OH),

CaCl, + B

» (‘ﬂfi + R

\g/ Ca(CIO,),

(4) Ca(ClO,),

Houph Work
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146. Which of the following slalcments about Noble gases are correct ?
(Il XeO, is an explosive tetrahedral molecule.

(I} In Fisher Ringc Mcthod, a mixrure of CaCl, and CaC, is used to remove N, and O,

(III) He and Ne are chemically inert due to lack ol d-orbirals and high ionization potential.
{TV) At 173 K Ile and Ny ar¢ adsorbed on activated charcoal .

The correct answer 15

{1y TandII

(2) Mand [

(3y 1L 10 and TV

() 1, MMand TV

G &y 3 arolPe HBow |30d woTrodt I8 DB ?
(D XeO, wowsy Ao Sty doh e,

(I . a5-Bod H%8S° CaCl, |, CaC, b Djfsrdy N, 0, asrohyu Sofothds
o z 2 L AT TR .
s 8.

(1) &dubo Sbok VoS d-sByirds Bhotkhd, Jind wobdLdn #6aw 0N
Go Hud S8’ PEY.

(V) iDobo tobcts QoS 173K 88 oFed &'iid voFimis Dodeon.

éﬁ@:“m ZI6T°EN .

M) LI
\;,2/ T, I
@) I IL IV

{4y LILI, IV
Rough Work
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147, Which one of the following pairs of complcxes has the effective atomie number equal o 36

for the transition element ?

HORES Sarde CluEy (PPN HErew Dopg (BosSdatudd J Hoiy pan e
zobes® 16 K Didedhn?

(l]' [Canj)ﬁ.]{:fj ' KglFC{CN]G]
(2)  [CO(NH,}ICH ; 1Cr(H,0)]CY,

vﬁ [Ee(CO),] ; K [Fe(CN),]

(4} [Fe(CO)s] ; KyfFe(CN),]

148. 5 ! aqueous solation 15 kept in the prescnee of oxygen and suitable micro-organism for five
days at 20 °C.. If the O, consumed iz 0.2 g, the BOD valug of the sample is

5 0 wo |ooderd) e3)ul D0 WIS QAP FNEdt ok Faro
20C B’acé &Houm 0.2 g0, adenoXiEon crrw BOD Dewnd
(1} 4 ppm

04mgtt

(2)
\J’ﬂ( 40 ppm

(4) 20 mp !

Rough Work
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149. Which one of the fullowing praphs represent the comest order of bailing points (B.F) of
ethane (1), ethyl alcohol (2) and acetic aod {3} 7

&% (1), apd amEtS (2) dak G5 wio (3) v NSRS SFNE BP) ©
SO (Shoiwis S Do g, 2od a8S° 38 7

o
"

H

| 2%
el =

N
u7] .
o= D

[ ]
e

HP

‘:K_}
\

ol

b
Tt =

fr
=i 3

(4)

- -
pd b

Rough Work
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150, Which one of the follawing reactions yield 2E-buteng as the major product ?
\_LL«)/CHJ —C=C CH,+ Na/NH, {lig.).
(2) CH, - CH=CH - CH, +Li/ NI (lig
(3) CH; C=C-CH,+ Na/ NH,CII
(4) CH; C=C-CH,+Pd/BaSO,

1508 arad®, 2E-EJJ=5¢§EE&:I R wdynomr saf@. xﬁ:’:ﬁg.bﬁ? :
\H{' CH;-C=C - CH, | Na/NH, {|&)

(2) CHy—CH=CII- CH, + Li/ NH, (&)

{3) CH;-C=C-CH;+Na/ NH,OI1

4) CH,-C=C-CH,+Pd/BaS0,

E51. ldentity € in the following reaction :

Chromic NH, A
C.H, —3 A B ——C
acid - -HO
[Bo8 Wed’ C & o,
: NH A
o E25, 4 g L,
B0 -1L,0

(1) CH;~CH,-NH,
(2) CH,-CN

(3) CH,-CIL,-NH. CH,

- )]
& o]
4 CH,-C -NH,

Rough Work
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Pyridine ' o . .
152. l.',“ijUH + 80C, —- X+ Y + 7, in this reaction X, Y and Z respectively, are

C,H,OH + SOC!, —“’Ef&i} X+V+Z wd 88" XY, Z o Hldm

{1 C,I1,Cl,, SO, HC
C,H,Cl, 8O,, HC!

“(3) C,HCl 8OCH, HCI

(4) C,H,, SO, Cl,

153, The compound matl reacts with CI[,MgBr to yield methane as one ol the products is
CH,MgBr & $50g o8 -2ESE 2.8 ddyhon oy Bodri dadin
(1) CH,CHO
{2) CH,COCH,

(3) CH,COOCH,

\;a( CH,CH,0H

154. The organic compaund which gives peroxy compound on exposure 0 atmospheric air in the

presence of sunlight is _ :
ed BUNS DargeRy Ardghly oged mhHE Hodr, sd vody Wy
j?ﬁ:@o&. &2 B8N0 ‘f.xa".;iém
y CHOCH,
(2) CHCL
{3) CH,CH,0H
(4) CH,CHO

Rough Work
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153. When 1, 1-dichloro propanc and 2, 2 dichloro propane are reacted separatoly with agueous
potassium hydroxide solution, compaunds *A' and ‘B" are formed. Both *A’ and ‘B’ pave
the sume product *C’ on reduction using amalgamated zinc and HC?, Identity '€’

{1) Propyl alcohol {2} _ Isopropyl alcohol
{(3) Propyl chloridc \ﬁ( Propanc

I, 1- 356" | DS Oy 2,2 ' [Poced Idr Ernode weE)6 aw
[bedn s B8g wdibm, ‘A, B o @aﬁmw Dtﬁaﬁémo&a.‘ﬂ‘, ‘D oo Codotsd S
S, slradBE ol ook HC! & Jorsdoin of Sl ¢iin ¢ D8 ythE0a.
‘C* 9 hRosed. ' |

(1) |26 ey Sy (2) o2 vy e

3) @S Esh \w/ Carls

excess Chy
- A » B
Red P

H+

b

156. CH,CN +H,0

In the above reaction, A and B are respectively

gy T wBEChy
CH,CN + H,0 > A > B

P o
B B8, A, B e S55m
\mfcﬁacni}n, CCLUOOH

(2) CH,CH,0H, CH,CH,C!

{3) CH,CHQ, CCELCHO

(4) CH,COCH,, CCLCOCH,

Rough Work
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157. Nitrohenzene undergoes reduction with Zn/alecholic KOH to form a compound A, Vhe.

number ol Sinma and Pi bonds in A, respectively, ary

BE® Bods, Zn/wyy DS KON & SabEdnm 368 A o S #Tdy DE)SIek.
A & o drry foBoln W woprw Sl

(1) 17,6 @/2?,5.

{3y 27,8 {4y 17,8

158. Which one of the following compounds helps in achieving equilibrium hetween 0, and CO,
in atrgusphere 7
N)/ Chlorophyll
{2}  Vitamin-B,
(3} Porphyrin

{4)  Acetyl salicylic avid
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159, ‘Nawural mbber’ is a polymer of

(388" oDoT Syt L ), ;—"PE};:JE

(1) CIIL, =CH-CH=CII,

(3) CHy= € - C =CH,

160. Match the following :

CH; CH;
|

CH;

!
\/(,!‘;/cnz:cn— C =CH,

(4) CH,-CH CH, CH,

{‘v’h‘;tﬁilns} List-11
(A} H (i) Rihoflavin
By B, (iiy  Pantothenic acid
) B (i)  Niacin
(D} B, (iv)  Thiamine
T Y6 Te SR
_ arfor-l (SEh) erodyer-IT
Ay B @ 3F TN
(B) B, (i) o€ BIE widy
(C) B (i), oo
(D) B (iv) Bobas
The correct match is '
S50 @Jé oL
w ® © O
Ay v 6 @ @
2y {v) (i) ) (it}
(3) Gy vy (D (i}
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